Test 2 Review Key

La: bs co-1 d2 e-1 f1 g2 ho
2. a. No; Jump

b. Yes

c. No; Jump

d. Yes

3.k=4

4. A=5,B=-2
5. DNE
6.a. f'(x) =24(2x —1)3

b. y' = 6(sec(2x))3tan (2x)

e f' ) =55"%

x2

d.f'(0) = =;

-3 2

22 x?

e. f'(x) =

f.f'(x) = (x?+2x)3(11x%? + 6x — 8)(x — 1)

2
’ x“+4x+1
Jx) =
g f'0) ="
Wy = 5x3+15x
-y 2Vx3+5x

- o __ —2sin(x)
i f G = (1—cos(x))2

j. f'(x) = 4sin®(4x? — 6x + 1)cos (4x? — 6x + 1)(8x — 6)

,  —xZ%csc?(x)—2xcot(x)

k.y' =

1. f'(8) = sec(8) tan(0) — sec?(0)

; _ —2x+4
2y+3

7.a.y



b.y' = —cos(x) csc (y)

.y =

d vy = 2y
2xyy—xVx

ey = _Ty

gy = _xylzs

h. y, _ —sin(x+y)—4y

4x+sin (x+y)

8. Use f'(x) = limhﬁow

9.18x — 12
10. y'(—2) = 297
11.-3

-4 1
12.2. (=0, =t | U0, ]

13.16x — 18

units

14.9

sec
15.2 7% down the wall
2 min

—1 units
16. — —

3 sec

17££

" 24 min

18. a. Tangent Line: y — 3 = % (x —15)

Normal Line: y —3 = —6 (x — 15)



b. Tangent Line: y + 1 = z(x -1)
Normal Line: y + 1 = _?4 (x—1)
19. f(x) is continuous on [1,2]
f(=1)=—4and f(2) =71
—4<0<71- hasaroot

20.a. 1 b.2 c.3 d. 3 e —

22.c =+
23.2) f'(x) = 12x3 — 60x2 + 84x — 36
f'(1) = 0;x = 1is a critical number
f'(3) = 0;x = 3 is a critical number
b) interval of decrease : (—o0,1) U (1,3)

interval of increase : (3, ©)

f. 13



